In[1]):= I a.

out]= a

n2= E0[R_] = 0
1+8qrt[1-4 (1-R)]

€l[R_] =
2
l1-Sqgrt|(l1-4(1-R
o - -4 (2-)]
2
outz= 0
1
out[s= — (1+ 1-4 (1-R) )
2
S (17«/174 (1-Rr) )
2

ns= Plot[{Re[£0[r]], Re[&1l[r]], Re[&2[r]]}, {r, 0, 2},
Frame - True, Framelabel - {"R", "Re[£]"}, PlotStyle - Dashed]
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In[6]:= I b

outsl= b
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n7= al = Plot[{Re[&§0[r]]}, {r, 1, 2}, PlotStyle - Dashed];
a2 = Plot[{Re[£1[r]]}, {r, 0, 3/4}, PlotStyle - Dashed];
a3 = Plot[{Re[§2[r]]}, {r, 0, 1}, PlotStyle - Dashed]:;
a4 = Plot[{Re[£0[r]]1}, {r, O, 1}1;
a5 = Plot[{Re[£1[r]]}, {r, 3/4, 2}];
a6 = Plot[{Re[£2[r]]}, {r, 1, 2}1;
Show[al, a2, a3, a4, a5, a6, Frame - True,

FrameLabel - {"R", "Re[§]"}, PlotRange - All]
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out[13]= & r '\ ]
[ "
0.0} ALY
-0.51 ~
7010‘ o ‘015‘ o ‘1.0‘ o ‘1.‘5‘ o ‘2‘.07
R
3 3
inied= ol [R_] = -2R+ — - Sqrt[R— —]
2 4
3 3
02[R_] = -2R+ — +Sqrt[R- =]
2 4
o3[R_] =R-1
0l0 = 01[0.8]
020 = 02[0.8]
030 = 03[0.8]

3 [ 3
out[184]= — — -—+R -2R

2 4

[ 3
-—+R -2R

4

outsel= —1 + R

out[185]=

N | w
+

out1871= —0.323607
outtsgl= 0.123607

out189)= — 0.2
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e

nps= £1[t€ix_] 1= §[tfix] /.
NDSolve[{€'[t] = (0.8-1) «£[t] + E[t]*-E[t]?, £[0] = 0.2764}, &, {t, 0, 100}]
£2[tfix_] := £[tfix] /. NDSolve|
{€'1t] = (0.8-1) »&[t] +E[t]*-E[t]?, £[0] = 0.2763}, &, {t, 0, 100}]
£3[tfix_] := £[tfix] /. NDSolve[{&'[t] = (0.8-1) »£[t] + §[t1* - £[t]3, £[0] = 0.72},
g, {t, 0, 100}]
£4[tfix_] := £[tfix] /. NDSolve[{&'[t] = (0.8-1) »£[t] + §[t1* - £[t]3, £[0] = 0.74},
g, {t, 0, 100}]

infto)= £4[0]
out9l= {0.74}
nzo= bl = Plot[Evaluate[f1[t], {t, 0, 100}]1];

b2 Plot[Evaluate[f2[t], {t, 0, 100}]]~;
b3 Plot[Evaluate[£f3[t], {t, O, 100}]1];
b4 = Plot[Evaluate[f4[t], {t, 0, 100}]1]~;

Show([bl, b2, b3, b4, Frame -» True, Framelabel - {"t", "§(t)"}, PlotRange - All]

06 bl

0.4 bl

Out[24]=
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nes= ¢l = Plot[Evaluate[Abs[fl[t] -0.2764], {t, 0, 100}]1]~;
c2 = Plot[Evaluate[Abs[f2[t] -0.2764], {t, 0, 100}]1];
c3 = Plot[Evaluate[Abs[f3[t] -0.7236], {t, 0, 100}]];
c4 = Plot[Evaluate[Abs[f4[t] -0.7236], {t, 0, 100}]1;

Show[cl, c2, c3, c4, Frame - True, FramelLabel - {"t", "§(t)"}, PlotRange - All]

04r b
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In[30]:=

nfzop= £11[td2_]
D[Log[PiecewiseExpand[Abs[f1[t] - 0.2763], f1[t] -0.2763 e Reals]], t] /. t » td2

f22[td2_] :=

D[Log[PiecewiseExpand[Abs[f2[t] - 0.2764], £2[t] - 0.2764 e Reals]], t] /. t » td2
£33[td3_] :=

D[Log[PiecewiseExpand[Abs[£f3[t] - 0.7237], £3[t] - 0.7237 e Reals]], t] /. t > td3
f44([td4_] :=

D[Log[PiecewiseExpand[Abs[£f4[t] - 0.7236], f4[t] - 0.7236 € Reals]], t] /. t » td4
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im0y = Plot[{£11[tplt], £22[tplt], £33[tplt], £44[tplt]},
{tplt, 0, 100}, PlotRange - Full, Frame - True,
FrameLabel -» {"t", "o"}, GridLines -» {{}, {010, 020}}]
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